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If H.C.F. of numbers 306 and 657 is 9. Find the
L.C.M. of these numbers.
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Find the H.C.F and L.C.M of the following numbers
by using prime factorization:
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Worksheet-2 Polynomial Class- Xth
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Give an L\nmpk of a lincar polynomial. / Fz -7 mi3 TT6RT 110 rlmal N
2 Form a quadratic polyno
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Sreaifaar fad |When p(x) is divided by
g(x) then we obtained g(x) as quotient and
r(x) as remainder , write division algorithm
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In given graph how many zeroes are in p(x)?
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The graph of polynomial p(x) is given. Find

the number of zeroes of p(x).
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If one zero of quadratic polynomial 3x% + kx -
2 is -2. Then find value of k.
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Find the sum and the product of the zeroes of

the polynomial x2-6X+5.
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" Form a quadraticpolynomial whose zeroes
are as follows:
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12. HJUT p(x) = 4x3 - 8x? + 8x - 1 B gkx) =
2¢ - 3x + 2 &G A IS IS ni3
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Divide the polynomial p(x)= 4x3 - 8x2 + 8x - 1

by the polynomial g(x) = 2x% - 3x + 2. Fmd
the quotient and the remainder.
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What must  be subtracted  from
4x* + 2x3 — 8x? +3x -7 , So that it may be

exactly divisible by 2x*+x=-2.
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Obtain all other zeroes of 2x3 + x2 - 6x - 3, if
two of its zeroes are -v3and V3.
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Which sequence is an AP ? forsst usr 59:-
M1 3.9 27 ’ ...... , (lF)lnd 8h;eanmber of terms of the following A.P )|
(2) -10, -6, =2, 2.. é-;gfgﬁg
(3)_—21 ——3 .75 (2) -5, -8, -11
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) oy | Q-6 Mg? ; éFillthe blanks)
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— = = aal f d : 0 .
v 2) Ford a=10, 4=2 3% 3 an 3" 91 (find 2wl If an=3n+2 then find AP.
-[| A, 4 =3kt R=282=5
'nfn} Gy = 3%+ 2 =+~ %
v 3)@,11,17,23, ,,,,,,,,, nat y=? (find n™ term) . l"’2/ 07 7
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Which term of AP 21, 18, 15,.......... “is -81..Is it
possible that 0 is the term of AP? 2
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38 M3 1637 YT 73 T1

Find 31* term of AP, Whose 11% ‘ 38 and 16" 1
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Find the sum of first 15 multiples,of 8.
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A sum of Rs 700 is to be used to give seven cash prizes
to students of a school for their overall academic
performance. If each prize is Rs 20 less than its
preceding prize, find the value of each of the prize.
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What is the coordinates of onam"

Threc %)Lﬂnore points on one line are called
L) Gy

¢ 3 gt U3 &9

What is the distance of P(x,y) from the origin

vertices are collinear.
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If the area of any ‘triangle is units then its
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Find the point on the y-axis which is equidistant from

(2, 3) and (-4,1). ¢o y)
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Worksheet-7 _ COORDINATE GEOMETRY Class-Xth .
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ind the distance of poi - gagd |
Find e disarceof oint 3,7 fom gg(dst)hjvalue of kif P (0,2)is equidistant from points A~
7 (3.k) and B (k.5) . p 5 2)
2. s fifg ¥ fagem vl TRT :
. . A I
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8. fifonit (-3,10) M3 (6, ﬂ; 0
fze(lé)fanmﬁam%? ?/ ) (4,
Fmd the ratio in which the line segment joining the points

(-3,10)and (6. 8) is divided by (-1.6). L
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9. k?muafaaﬁaafaa(sn J(k,-4) M3

(2,-5) RHIT I |
Find the value of k if points .(8,1) ,(k,- 4)and (2,-5) are

collinear. ﬁo_? ()?73,90 Re:) SR & ‘2132/3‘;
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Find the coordinates of the points which (llVlde

the line segment joining A(- 4, 0) and B(0,6)
into four equal parts.

11. @Hfa?@mwwaaﬁﬁmw( 17)»1?{

(4-3)6%%3&7&3323?
CEcua

Find the coordinates of the point whlch d1v1des the line

Segm t joining (-1, 7) and (4,-3) in the ratio 2. 3.
g L7 4 Db 33

C/ 1,71 / =4 .1 !7

Gy T £ K
% - /v_zf-

12. @ﬂﬁ?ﬂ?ﬁ%@ﬁﬁﬂ%fﬂww
(-4, 2), (-3,-5) "3 (3,-2) T51

' Find the area of the triangle whose vertices, taken in
order, are (—4,2), (-3,-5),(3,-2) 2

QLA RB = ?

N Cad

" ameets BC at D, whose verti

& \ (s/€
L’,’ ) f/
hoo2 =
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3. 79 Al4,2) B(6,5) C(14)f86( fogm ABC® find_ |
5| Aa‘aaqrfw?rnfuaf BCHD@%ﬁ-mé‘r%raT
AD o daret usT a1 :
. Find length of median AD of a triangle ABC which
TS are A(4 2) , B(6; ‘

ca4).

(Tz) (62) (53)nr§(34)am _
Find the area of the quadrilateral whose vemces
taken in order are (1, 2) (6,2), (5,3) and (3.,4)
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Find the ratio in which the line segment Jommg the
pomts (5,-6) and( 1,-4) on Y-axis.
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Worksheet-6 Triangles Class-Xth
: 3fa-h1‘5§’HAABCf¥UACZ—ABZ+BCZU'€'37
1. 73 ¥9 e 51 (ﬂaﬁmn-rm\‘{ Waimwﬁ);ﬂ%r’?
Alicirclesare ____(congruent, similar) (®) 24 (®) 2 (W) aEt &t
2.1 5% 75| (f&'tngFﬂ‘ If in triangle AABC, AC? = AB* + BC?then which
AHTSHL, angle of AABC will be right angle:
- . -
A“_tnangles are similar. (scalene, (A) A - B) £B O) £C (b) Nane:
isosceles, equilateral) A
3. ANZY 939 St ¥ Geroast fef) c R 4ecm/ \ 3cm
Give two different examples of palr\of similar 9. ?) i f{falg 3| D E
figures. RloL w95 Ya ?prb;;CuE;c'then Find  12cm ?
4.3@1%%%&33}@?{313?%33? ' 8B c
_ the value of EC. ‘
A L{ X
XL L3 & )
60° .
B A C - { )\
. H m 26
@) z-g7-3 NN (ST S
®) FT-Ae-FT (M) T T
Under which similarity criterian the given triangles~ .
are similar? : _ . ,
(A) SSS (B) AAA  (C) SAS (D) ASA. ) f¥sg &9 ABIDC a-f\ B
;/ X T HS UST a9
5. 35g AFED~ASTU 3 3T —=— % GEIG, ‘ AB I DC find the
DE value of x
If AFED~ASTU then— o = -T— (Trlfe/FéIse) 3 F ’ -
. : . _ : 7 Sap
S R A : 3 & - -
@t DE || AB 31 3x+19 3x+4 D q: N
What value of x D E L[ ~ LL : - A —
willmake DE || AB. y s 5125 D
3 122 -] I§
@Bx ) T QK + L)) 4 ]%oz | mﬁuf o'y I BATE! NS
Qt + 3 |
Epirk = ( N Iy [ o ]
A1 =3 Mn 4 A )
1= 7 ( H’H Lo &gps:fz%y,@ P
7.€m@ufqgﬂfwm?»@n34:93| TR
fegst f3gnt ¥ ASISH & MEUTS T £PST = /—PRQ%”V
®) 2:3  (m) 4:9 (¥) 81:16 16:81 Hu 53 faapQr fex S T
Sides of two similar triangles are in the ratio 4:9, AHEEH fgw 91
Areas of these triangles are in the ratio: _ Q R
(A2:3  (B)49  (C)81:16 (D)16:81 In the given fig. — = —~and £PST = £PRQ.
, : SQ TR . '
Prove that APQR is an isosceles triangle.
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<t @is 3 use & SwEt 4 3 we fx
nn'ﬁﬂ“s—}rﬁ"e}uaﬂ%é‘rwﬁﬂsrﬁ
31 iz & o=t usT a9
A vertical pole of length 6 m casts a shadow 4 m
long on the ground and at the same time a tower

[ é casts a shadow 28 m long. Find the height of the
WwWer. ,
Y ! =

l

<

== ';:,'1-1"3‘-\ ﬁ% an‘f’
=3 m(ﬂm }Iig-;;m %@/
> *nf*uz 2 $2'93 3?‘3’

en (APRA) _ /CS?F) (})

Ton(ACR) T

=E N L}.\ , |
%5[3\453 = 44 Uj,r:??ég)
=26 BYE HM2Y oF _.,ﬂ .
¢
e 2y L:‘?——jx =t
2 - H
A J
2 ﬁa'HAABC'»APQRaénE'a;-—;EF i
—__ar(APRQ) =r H'S UsT S|
ar(AACB) .
It is given that AABC~APQR wnth(—z— = ;then 3
ar (APRQ)
n ar(AACB)

N

13. D w3 E-aHRT AABC -

lae= ﬁc—r 89'- B&m nsfs;:}ngz; A
Fold
e}'\‘}\ ',r—(f‘i \ﬁ"

L L
REﬁ}g_‘p rﬁc P\t‘*—g ‘f‘-"(

14,
2000 foft.afer &t o5 a® €5 31 R AN fEx
J9 T=Et AoH BR T=TEl »i3 3 yIw I8 2400
km/h St 978 &% €50 I 21 e gmiE I
ITE Aot o fegaradt gat flat Iat?

An aeroplane leaves an airport and flies due south at
a speed of 2000 km per hour. At the same time

| another aeroplane leaves the same airport and flies
due east at a speed of 2400 km per hour. How far .
apart will be the two planes after 2} hours?

L

(Braat o€ €us mraet E
¥y ot IARE CA i3
cB Su3 A3 I3
fitg 9 € D A
AE? + BD? = AB’2 + DE2
D ana_are points on 'sides CA and CB
respectlvely of a AABCright angled at C.

Prove that
52 +BD? = ABZ + DE?*

(;BQ bﬁlb& )

- fWL'F:DE

f&x o=t 7o X g9t »id 3 dHE <
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TTHIE-8 fefidt a3 aeadl TS TRRT
Worksheet-8  INTRODUCTION To TRIGONOMETRY  Class :Xth
. 1939 9 It fsdt Fsehimt wisums uar &3 }
2
Find the trigonometric ratios for the following ok L) gfg
diagram, : /(Z) 4
’ | < (u) scc2 A +2tan’ A, XX
‘ e
b >(5)
n ’f A ).
B _ C ’
tand = B = cosC = B < / -
s P
tanC = PB A = - -
o sc cos _.ﬂ. 5. 4% U3t a9 ( Evaluate)

H&E F3:Match the columns:

3 cos? 30° + 2 tan® 45° — sin? 60°.
'R P v
: 'l' ’ — 3
4(%) t 20 (&_})
SR PR T r e

- 3 4 2-2
. A
~ i S o = ug'r.. = "Lf._ ' - ‘, :
3.H?Hsn'16— 3t gl f3ASHST nigus usT- - - p
9 | If sinf = —, then find other T-ratios . — = /.—L — =
| o 5,29 iy - 1o IR T -
%% 5/‘4 @z ,—-: L ) o )«quV,y})_HEUBT,a%(Evaluate) -2 4 2 ~7 ﬁ'%
- Coppz 1> 25in26°  atan6s®  cosec 70° .-7 a %
Q ,@q)JrQq.w B e e /(5]
13) /(5) f - = B < :
|6T = 95 +< ¥ | Se<co- )z asma- (L') éqw@afls 18
[6T~26 ¢ ' ) _’},% : G/(‘ f"').S chh‘
4ﬁa€7t‘jlnA—y3m§'LC—90"U?37 WL 5 cony Od_5+f< ;
zi I | If tanA —i—and £C = 90°then find. . v Cor +,§ ¢s0©
P‘.) (i)sinAcosB+co'sAsinB. 1. W® U3 75 (Evalua;e)" y’ W 7—9 = @
™ % Q'Zl“? ) =zt ©
ﬁ %% % 1 )/;\LY L (< s%?10°+ sin?80° 4sin70°
] 7(3_ + j yi €05225° + c0s265°  cos20%
f‘l\ NS | 5)( (S 2ot g Qo-ls SmCo’”
A L
[ /'nzi’“(}’o'—éfﬁ-f' losl %< J
A A
o | W5-08(l
}7 55 Sinle + c’,o/f‘[c ,Z_,Zé
\f@f*, - %; [ <n €<+ Cop’x s t '

il
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8, a &3, Prove that: @B
VD ' .

tan 26" tan 23" tan 45 wn 67° twn 649 = |,

£an (Qo - G‘Dr{oh@wc—/)..(mt/q
€8N 67" ¢an 6‘/ =)
cpy@ Co

G’/ 6ﬂh 45 {q
9. W sin 4A = cos (A - 10)°, A 4A @H f’f@?‘
AT S Uzt 59

IF sin 4A = cos (A-10)", where 4A is an acute angle. Ilml
the value of;

/ac"]o'L/A) Cn(A-1D)

~Mh-A = ~le-To
~ 5hA = ~leo
= ”'_,’1‘.0..-—0—;9*00'

15

‘ 3
10. AT sin (A + B) = 1, cos (A-B)=§m§
0'<A+B 90", A>B.3t A 3B T ¥ u3" 3|
Ifsin (A+ B) =1, cos (A -B) =‘[7§ and .
0%<A + B £90% A > B. Then find value ofA and B,

w@mm.

71

((" 2
1], e vt ul(lwluulc) 4 Q /‘7),)7)’,

9 ucc.’/\ 9 tu? A 4 (SR +5 conp),

7=
f@” -+

/y}

r2. «ﬂ (Prove that)
L/

tanA
1+5ecA

tan A
1=SecA

=2cos5ecA

13, usT a3 ( Bvaluate)
cosA=sinA+1
cosA+sinA—1" cosec A + cot A,

LT

14. ¥50F A, B w3 C fagm ABcénmazaaaf
fon fix 1t A, B and C are interior angles of a triangle

Qin (A ,,—Jg) ABC, then show that sm(-z—)=cos— A
A SihCnre) = 5%90" ./’/‘/ Atgrczi8o 4 A
e At = [6o—C
Coslp—R) - | .
(A’B -~ o,_r g‘ H'f-g - §-
CP’ ) e 99/@0 /} W\(__‘E-_),.@}a"( g i >
t 8= 9o UL 2/ IBo~<
ﬁf/gzzo,—ﬁf,. MQO );@AC
h - Tio n sm@aio ) tans
= 2o - &k -
AtB = 7° = P2 —Cor < W
(ot8 - To / é - 3 ’s
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TIFHIZ-9
Worksheet-9

1. € muaet 3o o o9w, 39 i3 nog o
AT f&d Write the relation between perpendicular
Base and Hypotenusg:)f right triangle -

2. f3d=first 3 g6
() mE (2) nifax &=t (YA

Trigonometry is applicable for which type of trianglve

(1) Isosceles Triangle

Triangle &

s.fea s i fsadt o der di_J =
Right angle is of degrees.

4. IS T utEan f3ae fed | 2/.‘!,, N

' Write two Pythagorean triplet C/, 4/. lo

5. f¥39 2ux ales a=

3 €9 JT T & FHI
Identify angle of-elevation

and depression from the -

p—
—_—

P————

I ure . T ,
L) 5
f‘) SICRT 2 | B Gan De -
P _
6. f&x 6 Hied €9 ¥ ¥ ygee & SaEt 2V3 HL
|| 3, 89= &= usr ST 1A pole 6 cmhighcastsa
shadow 2v3 m long on the ground, then find the

angle of elevation.
L Y3 ode T B

!

,-—«iggrfl

5% EW%%‘%@/%QW 1292 |

(2) Obtuse Triangle (3)Right -

m i D-

1Ytlo

fadefigt & ofs QU

Some Applicatioris of Trigonometry  Class-Xth

o

AHT3-TRet

8. gadt nigE &7 foa oS ge we %m
Sfemp g1 fEA 397 &6 T 7o J fa Toug =
s § gIE sarer J w3 AT &% 300w 3
geger 31 TS @ v fiE @ 9, 1 eens
o fneg 5 § 207 9, 8 T, 319903 & guat
Fedecl
A tree breaks due to storm and the broken part bends
so that the top of the tree touches the ground making
an angle 30° with it. The distance between the footof

ground-is 8m. Find the height of the tree.

e

ys1 oA =

A, tooh
gﬁ» ;f*’}‘é“"gfs MlYls £
v P , oo~
‘ R i
e s |
h(.;’— 2 ¢ . A ﬁ &
:é Qa‘#é) 14| efZ

9. f¥q HiaTa T ANS® mits 3 uFt J, o uge
Afgst &9 50 Wi U S J AeT Y AT HaA
Frr=Ey 60° 3° We  30° J wer I Hiea &

| 8e#t wzr &)

The shadow of a tower standing on a level plane is

—_— —

| =
2 g 15 4%, Saret Tt U=t ¥ du &7 SarEr AT

3. ¥ o= aF 60°T2 3t AU T GUTEl UST AGIA
ladder 15 m long just reaches the top of vertical wall.
If the ladder makes an angle 60° on the ground. find
W the height of the w?ll. :

;5 found to be 50 m longer when sun’s altitude is 30°
|/ then when it is 60°. Find the height of the jgwer.

- féqnsg- 6/‘ G‘\-”“

the tree to the point where the top touches the 223]

-09(F)

__'{:L. PR :[ NEZ‘H = V‘ivs'f‘ £o
AfT - a ~,~\T€
G s 5 a4
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: m the top of a 7 m. high building, the angle of
10. € 100 Wt €5 vort & I I R g 2 Z:zvation of the top of a cable towegr is 60° agnd the
frrrg w3 w2 A S FHIT 30° W3 600 angle of depression of its foot is 45°, Determine the
51 Hiwe & Guet uzT 9 - height of the tower.
The angle of depression of the top and bottom of 3 - 3 E
tower as seen from the top of a 100 m high cliff are | ’ Lig' 'g:”ﬁ’ r'— 2> A

30° and 60° respectively. Find the height of the to t)‘?F :

ﬁ‘\ 6;&12/](/—}7"7)
S HIH

13 Mg @ g 3 B AS® Jur I aHica w3 b
Hizg & vt 3 AfE3 © e 3 o9 @ fug 2 .
@ma&maaamfﬂtraafanﬁwaéf@a@r -

Vab J1

The angle of elevation of the top ofa tower from two
points at a distance a meter and b meter from the~

base of the tower and in the same straight line with it
are complementary. Prove that height of the tower is

11. fEx ugt & 81 3 yow 9% A3 3 I .
Uadt (km R9) 3 2uE 3 € &8 Sa° Yaa' ¥ 3w
IE 30° B3 45° T&1 yast & QuEt uzT &9
From the top of a hill, the angle of depression of two

consecutive kilometer stones due east are found to be
30° and 45°. Find the height of the hill. :

Y21 2ef - 99’5/}
%

1.7, T e e g 3 fxr e oeg @ .

H
o
fmig = €972 dT 60° I ni3 fore U9 v e & L gy D .
45° 31 T=I & GurEt usT 9| | /'f:t_v = ,@%:;37"%:
cb

ko dfh s o oL
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